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APPENDIX |
6.1 The relation (3.66) of chapter 3

I have to show that (equation (3.66} chapter 3)
Ig(t’“) =0 {6-1)
For this , with usual notation (vide, Chandrasekhar, 1960) 1

have

X 1, 2 “kat
I5(t,p) > 5 (1 —mazi L, e /(L + pk ) (&6.2)

where the constants Ld are determined by the equations

D
E{La / (- yika)} =0, (i =1,2,3 cc.. 0} (6.3)
o=1
Since n
) n
l l (1 —pk ) YL /(1= k) (6.4)
o= 1 - Y
is a polynomial of degree (n — 1)} with n distinct zero , it
is identically =zero.
-Hence , every La =0 , and in the limit , as n —> «
4
I (t,u) =0 . . (6.5)

which is the required relation.




